CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONTENTS

50Hz

BEARINGS 3(.)M4-3(.)S4

BEARINGS 3(.)P4

MECHANICAL SEAL (standard, H and special version)
MECHANICAL SEAL (L version @ 22)

MECHANICAL SEAL (L version @ 30)

MECHANICAL SEAL (HS version e special version @22)
MECHANICAL SEAL (HW, HSW, E and special version)
COUPLING 3(.)S4

FLEXIBLE COUPLING 3(.)P4

FITTINGS

DIMENSIONS AND WEIGHT

PUMP 3(.)M4 32, 40, 50, 65-125/160/200
PUMP 3(.)M4 65-250, 80-160/200, 80-250/5.5
PUMP 3(.)M4 80-250/7.5

PUMP 3(.)S4 32, 40, 50, 65-125/160
PUMP 3(.)S4 50, 65-160/200

PUMP 3LS4 65-250, 80-160/200/250
PUMP 3LS4 80-160/1.5

PUMP 3(.)P4 32, 40, 50, 65-125/160/200
PUMP 3LP4 65-250, 80

PACKING 3(.)M4

PACKING 3(.)S4

PACKING 3(.)P4

TECHNICAL DATA
MOTOR DATA 3(.)M4
MOTOR DATA 3(.)S4-3(.)P4
NOISE DATA 3(.)M4

NOISE DATA 3(.)S4-3(.)P4

319
320
321
322
323
324
325
326
327
328-329

400
401
402
403
404
405
406
407
408
409
410
411

500
501
502
503

Rev. L

101




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

SPECIFICATION 50Hz

Rev. L

Version 3M4 354 3P4 3LM4 3LS4 3LP4

Pump sizes 32-125
32-160

32-200
40-125
40-160
40-200
50-125
50-160
50-200
65-125
65-160
65-200
65-250
80-160
80-200
80-250

B Available also with H, HS, HW, HSW, E version.

@ Available also with H, HW, HSW, E version.

= Not available.

200




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

SPECIFICATION S50Hz
Rev. L
PUMP
Version 3M4 354 ! 3P4 | 3LM4 ¢ 3LS4 3LP4
Liquid Type of liquid Clean water and moderately aggressive fluids
Handled / Drinking water and water contains
glycol for E option
Temperature [€] [min.-10 min. -10
min. -20 (E version) min. -20 (E version)
max. +90 (Q1Q1EGG, Q1U3EGG, max. +110 (L, Q1Q13GG, Q1U3EGG,
Q1AEGG, U3U3EGG, U3CEGG) Q1AEGG, U3U3EGG, U3CEGG
max. +110 (H-HS-HW-HSW version) max. +110 (H-HW-HSW version)
max. +120 (E version) max. +120 (E version)
(For version see page 321+325) (For version see page 321+325)
Maximum working pressure [MPa] 1

Construction Impeller

Closed centrifugal type for 32, 40, 50 version

Reinforced laser welding

Closed centrifugal three dimensional blades for 65 and 80 version

for 40-200/1.5, 50-200/2.2

Shaft seal type

Mechanical seal

Mechanical seal with stationary ring
secured against rotation

Bearing Bearing with contact seal
Pipe Suction 32-125/160/200 Flange DN50 according DIN 2532 Standard
Connection 40-125/160/200 Flange DN65 according DIN 2532 Standard
50-125/160/200
65-125/160/200/250 Flange DN80 according DIN 2532 Standard
80-160/200/250 Flange DN100 according DIN 2532 Standard
Discharge 32-125/160/200 Flange DN32 according DIN 2532 Standard
40-125/160/200 Flange DN40 according DIN 2532 Standard
50-125/160/200 Flange DN50 according DIN 2532 Standard
65-125/160/200/250 Flange DN65 according DIN 2532 Standard
80-160/200/250 Flange DN80 according DIN 2532 Standard
Material Casing 32-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
40-125/160/200
50-125/160/200
65-125/160/200
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
Impeller 32-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

Casing cover

40-125/160/200
50-125/160/200

65-125/160/200

EN 1.4401 (AISI 316) m

ade by precision casting

65-250
80-160/200/250

/

EN 1.4401 (AISI 316)
made by precision casting

32-125/160/200
40-125/160/200
50-125/160/200
65-125/160/200

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

65-250
80-160/200/250

/

EN 1.4401 (AISI 316)
made by precision casting

Mechanical 32-125/160/200 Ceramic/Carbon/NBR SiC/SiC/FPM (L version)
seal 40-125/160/200 (See page 321+325) (See page 321+325)
50-125/160/200
65-125/160/200
65-250 /
80-160/200/250
O-ring NBR FPM
(See page 321+325) (See page 321+325)
Shaft 32, 40, 50, 65 |d=19 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
50-200/2.2 d=22
80-160 d=19 /
65-250 d=24
80-200/250
Bracket Cast iron - Aluminium

Applicable standard of test

ISO 9906:2012 — Grade 3B

201




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

50Hz

Rev. L

SPECIFICATION

MOTOR

Type

3(.)M4 | 3(.)S4 | 3(.)P4

Electric - TEFC

Three Phase

Efficiency level (Reg. 640/2009)

- from 0.25 kW up to 0.55 kW
IE2 from 0.75 kW up to 5.5 kW

IE3 only for 7.5 kW | IE3 from 0.75 KW up to 7.5 kW

No. of Poles 4
Rotation speed [min-1] ~ 1400
Insulation Class F (class B fot temperature rise)
Protection degree (CEI EN 60034-5) IP 55
Power rating [kW] 0.25+75
[HP] 0.33+10
Frequency [HZ] 50
Voltage V] 230/400 £10% (up to 4.0 kW)

400/690 £10% (5.5 KW and above)

Over load protection

Provided by the user

Casing material Aluminium
Motor support Cast iron - Alluminium
Dimensions of cable entry PG11 M20x1.5
PG13.5 M25x1.5

PG16 M32x1.5

PG21
Flange mount (IEC motor) / IM B5 IM B3

(up to 1.5 kW)
IM B35
(2.2 kw and above)

202




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

SELECTION CHART 50Hz

Rev. L

PERFORMANCE RANGE

U.S.gp.m. 30 40 50 €O 70 80 30100 120 140 160180200 250 300 350 400 500 GO0
| | | | | | | | 1 1 | | | 1 1 | | | | |
[ [ [ [ | [ [ I 1T 1 [ [ I T 1 | [ [ [ |
Imp.gp.m. 20 30 40 50 €0 70 80 90100 120 140 160180200 250 300 350 400 500
H e e e e T e 80-250/75 —75 H
m] 20 65— ft
[m] 250755 "
65-
15 25074 L 50
O 2 > i
L - 40
A 075 N
0 - N
5 ‘ -——f\@ - 30
8 ‘T\ 723
: Nﬁfﬁ > -
) NN
20
G NN
2 —15
4 N N
3 \\ —10
T
\&
2 & {J
/ / / % i
1 / //

1
50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q [1/min]
[ I I I I T 1 I I T 1 I I I I I I I ]
3 4 5 6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150
Q [m /h]

203




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

SELECTION CHART 50Hz

Rev. L
SELECTION CHART
3 SERIES 4 Poles: 32, 40, 50 Version
Pump type Power Q=Capacity

Jmin 0] 50 | 100 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 500 | 600 | 650

kw]| HP] [m¥h o] 3 | 6 | 9 [ 105 | 12 | 15 | 18 | 21 | 24 | 3 | 36 | 39

H=Total manometric head in meters

32-125/0.25 0.25 | 0.33 57] 55 47 35 2.8 - - - - - - - -
32-160/0.37R 0.37 | 0.5 73 7 6.2 5 42 - - - - - - - -
32-160/0.37 0.37 | 05 o 87 8.1 7 6.3 - - - - - - - -
32-200/0.55R 0.55 | 0.75 10.8] 10.3 9.2 73 6.2 - - - - - - - -
32-200/0.55 0.55 | 0.75 125 12 11 9.2 8 - - - - - - - -
32-200/0.75 075 | 1 175 171 | 161 | 143 | 132 - - - - - - B -
40-125/0.37R 0.37 | 05 51 - 438 45 43 4 3.4 2.6 1.8 - - - -
40-125/0.37 0.37 | 05 6.5 - 6.3 6 5.8 5.5 4.9 42 3.4 - - - -
40-160/0.55R 0.55 | 0.75 77 - 7.3 6.9 6.6 6.3 5.7 5 43 - - - -
40-160/0.55 0.55 | 0.75 91 - 8.6 8.1 738 75 6.9 6.2 5.4 - - - -
40-200/1.1R 1.1 | 15 11.6] - 11.2 | 108 | 105 | 10.1 9.4 8.6 7.8 - - - -
40-200/1.1 1.1 | 15 13.6] - 132 | 127 | 124 | 121 | 114 | 106 9.6 - - - -
40-200/1.5 15 | 2 18 - 177 | 173 | 171 | 16.8 | 164 | 152 | 14.2 - - - -
50-125/0.55R 0.55 | 0.75 54 - - - - 5.2 5 47 4.4 4 3.2 2.3 -
50-125/0.55 0.55 | 0.75 6.4 - - - - 6.2 6 5.7 5.4 5 42 3.3 -
50-160/1.1R 1.1 | 15 82 - - - - 7.8 7.6 7.2 6.9 6.4 5.5 45 4
50-160/1.1 1.1 | 15 95 - - - - 9.1 8.9 8.6 8.3 7.9 7 6 55
50-200/1.5R 15 | 2 127] - - - - 121 | 118 | 114 11 10.5 9.3 8 72
50-200/1.5 15 | 2 14 - - - - 13.3 13 127 | 122 | 118 | 106 9.2 8.4
50-200/2.2 22 | 3 17.8] - B B - 175 | 173 17 166 | 162 | 151 | 13.8 | 13.1

3 SERIES 4 Poles: 65, 80 Version

Pump type Power Q=Capacity
I/min 0| 300 | 350 | 500 | 600 | 800 | 950 | 1000 | 1050 | 1100 | 1200 | 1300 | 1400 | 1600 | 1800 | 2000 | 2200
[kW] | [HP] m¥h 0| 18 21 30 36 48 57 60 63 66 72 78 84 96 108 120 132
H=Total manometric head in meters
65-125/0.55 0.55 | 0.75 53 48 | 46 4 35 | 23 1.4 - - - - - - - - - -
65-125/0.75 0.75 1 64 6 58 | 52 | 46 | 35 2.5 2.2 - - - - - - - - -
65-125/1.1 11 15 77 7.2 7 63 | 57 | 45 | 35 3.2 2.8 - - - - - - - -
65-160/1.1 11 15 8.6] - 81 | 74 | 69 | 57 | 46 4.2 3.8 - - - - - - - -
65-160/1.5 15 2 9.7 - 9.2 | 85 8 6.7 | 57 5.3 4.9 45 - - - - - - -
65-160/2.2 2.2 3 11.8 - 11.3 | 106 | 10.1 | 8.8 7.6 7.2 6.8 6.4 5.5 - - - - - -
65-200/2.2R 2.2 3 13 - | 124|116 | 109 | 9.3 7.8 7.3 6.8 - - - - - - - -
65-200/2.2 22 3 145 - | 139 | 13 | 124 | 108 | 9.3 8.8 8.3 7.8 - - - - - - -
65-200/3 3 4 163 - | 158 | 151 | 144 | 129 | 116 | 11.1 | 106 | 10.1 9 - - - - - -
65-250/4 4 5.5 18.8 - B 181 | 17.6 | 16.1 | 14.7 | 142 13.7 13 11.6 9.8 B - - - -
65-250/5.5 5.5 7.5 21.8 - - 212 | 20.8 | 19.6 | 184 | 17.9 17.5 17 15.8 14.4 12.8 - - - -
80-160/1.5 15 2 73 - - - 6.8 | 6.3 | 59 5.7 5.6 5.4 5 4.6 4.2 3.4 24 - -
80-160/2.2R 22 3 8.6| - - - 81 | 7.8 7.4 7.3 7.1 7 6.7 6.4 6 5.2 4.2 3 -
80-160/2.2 2.2 3 9.5 - - - 9.1 | 88 | 84 8.3 8.2 8 7.8 7.4 7.1 6.2 5.2 4.1 -
80-200/3 3 4 12.4 - - - 12 11.5 | 109 | 10.7 10.4 10.2 9.7 9.2 8.6 7.3 5.9 4.2 -
80-200/4R 4 5.5 14.8 - B - 144 | 139 | 134 | 132 12.9 12.7 12.2 11.7 11.2 10.1 8.8 7.2 5.6
80-200/4 4 5.5 16.0 - - - 154 | 149 | 143 | 141 | 139 | 137 | 132 | 128 | 123 | 111 9.9 8.4 6.7
80-250/5.5R 55 | 75 185| - - - 17.7 | 17 | 16.3 16 157 | 154 | 146 | 138 | 129 | 10.7 8.4 - -
80-250/5.5 55 | 75 212 - - - 205|199 | 191 | 189 | 186 | 182 | 176 | 168 | 159 | 138 | 11.7 9.3 -
80-250/7.5 7.5 10 24.5 - - - 24 234 | 228 | 225 22.2 21.9 21.3 20.6 19.8 18 15.9 13.5 10.8

204




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

TYPE KEY AND CURVE SPECIFICATIONS

50Hz

Rev. L
Ls] o] Cw] [Ca] o] [Ces]-[aeo]/[22] [r] [Q1aEGG
Q1AEGG
U3U3EGG
Q1Q1EGG
QlU3EGG
U3CEGG
REDUCED IMPELLER
0.25 HP 0.33
0.37 HP 0.5
0.55 HP 0.75
0.75 HP 1
POWER CODE 1.1 HP 1.5
1.5 HP 2
2.2 HP 3
3 HP 4
4 HP 5.5
55 HP 7.5
75 HP 10
125
IMPELLER CODE 160
200
250
32
DISCHARGE SIZE 40
50
65
80
H
HS
OPTIONS MECHANICAL SEAL HW
HSW
E
MOTOR 4 POIES
M
MODEL
O S
P
For versions 32, 40 , 50 AIS| 304 *
65-125/160/200 AISI 316L L
For versions 65-250 , 80 AISI 316 L

3 SERIES

(*) No indication

205




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

TYPE KEY AND CURVE SPECIFICATIONS

50Hz

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B

The curves refer to effective speed of asynchronous motors at 50 Hz, 4 poles.

Measurements were carried out with clean water at 20T of temperature and with a kinematic viscosity
of v =1 mm2s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head
P2 = pump power input (shaft power)
n = pump efficiency
NPSH = net positive suction head required by the pump
MEI = minimum efficiency index

Rev. L

206




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz
Rev. L
32-125/0.25 (0.25 kW) MEI > 0.50 — impeller diameter = 133 mm
0 USgp.m. 10 15 20 25 30 35 40 45 50
| ] ] ] ] ] | ] ] ] ]
¢ (I) Imp‘g‘p.m‘I 1|0 1|5 2|0 2|5 3|0 3|5 4|0
[m] § [ft]
N
5 =2,
N 0.25 - 16
\\\
N
\\ 14
4 \‘\
Ny
\\ NPSH
\ [m] [#] I
3 ‘\ i 15
— 3=10
NPSH _— 2-| |8
1 5
2
0 50 100 150 Q [I/min]
[ I I I I ]
0 4 6 8 10 Q [m3/h]
016
P2 —
[ " 125/0.25 |
//
0.08
0 50 100 150 Q [I/min]
70
n
[%] 60 T ~
" e 125/0.25 |
7
'/
40
0 50 100 150 Q [1/min]

Rotation speed = 1400 min-!

Test standard: ISO 9906:2012 — Grade 3B

208




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz
Rev. L
32-160/0.37R (0.37kW) MEI > 0.70 — impeller diameter = 151 mm
32-160/0.37 (0.37kW) MEI > 0.70 — impeller diameter = 166 mm
0 USgpm. 10 15 20 25 30 35 40 45 50
I ] I ] I ] I ] I ] I ] I ] ] I ]
0 0 Imp.g.p.m. 10 15 20 25 30 40
H _ —30 H
[m] s 160 (]
/0
8 ~ Z
\\ - 25
T — \\
\\\ 76’0/0 \\‘
YR N
c - 20
™.
\\\ NPSH |5
N | [[m]If]
4 4 1
310
NPSH — 8L
1 4
2
2
0 50 100 150 Q [1/min]
[ I I I I 1
0 4 6 8 10 Q [m¥/n]
0.4 —
P2 160/0.37
[w] &3 [ —— ]
— \ \
0.2 160/0.37R
o [
0 50 100 150 Q [1/min]
70 T T
n 160/0.37
(%] e |
"1
50 ——a 160/0.37R
/
e
==
30
0 50 100 150 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

209




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz
Rev. L
32-200/0.55R (0.55 kW) MEI > 0.70 — impeller diameter = 186 mm
32-200/0.55 (0.55kW) MEI > 0.70 — impeller diameter = 200 mm
32-200/0.75 (0.55kW) MEI > 0.70 — impeller diameter = 224 mm
0 USgpm. 10 15 20 25 30 35 40 45 50
I | I | I | I | I | I | I | I | I |
0 Imp.gpm. 10 15 20 2 30 35 40
20
60
H I A S H
[m] ——200/0,75 [#]
—
15 _— 50
\\
—— — 40
B el i
10 \%L/Oiﬂ? \\ L 39
T~ ~— NPSH
= [m] [ 20
5 > 15
4
NPSH - 2 -0
5
1
0 0
0 50 100 150 Q [1/min]
[ | I | I I 1
0 2 4 ¢ 8 10 Q [m3/h]
0.8 —
P2 — 200/0.75 7
[w] %€ — T
o4 2‘00/0;55_
— 200,/0.55R |
0.2 —
0 50 100 150 Q [1/min]
€0 —
n 200/0.75
; ]
[ 0 200/0.55 |
=
200/0.55R ==
20
0 50 100 150 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

210




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. L

40-125/0.37R (0.37 kW) MEI > 0.70 — impeller diameter = 125 mm
40-125/0.37 (0.37 kW) MEI > 0.70 — impeller diameter = 140 mm

0 USgpm. 20 30 40 50 €0 70 80 30 100
| | | | | | | | | | |
[ I I I I | I I I
, 0 Imp.gp.m. 20 30 40 50 60 70 80
- 22
H s H
[m] ¢ \\\ 125 ~20 [R]
18
T T —— \\ 16
\\\ /2
27 1
N
N \\ 12
\ N
3 \\ NPSH [~ 10
N\ [m] [#]
4 L
N |8
2 AN 3==10
N s ¢
// 6
- 4
1 4
0 100 200 300 Q [I/min]
[ I I I I I I I I I I I 1
0 2 4 3 8 10 12 14 16 18 20 22 Q[m3n]
0.4 ]
P2 T T
[iw] 03 — 125,/0.37
0.2 — 125/0.37R -
| |
01 L
0 100 200 300 Q [1/min]
80
n
% 7 — _
[%] 70 = ~_ 125/0.37 |
— W y \
60 N 125/0.37R
~ | |
5 ||
0 100 200 300 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

211




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. L

40-160/0.55R (0.55 kW) MEI > 0.40 — impeller diameter = 151 mm
40-160/0.55 (0.55 kW) MEI > 0.40 — impeller diameter = 166 mm

0 USgpm. 20 30 40 50 €0 70 80 90 100
| | | | | | | | | | |
| I I T I I I T I
0 0 Imp.gp.m. 20 30 40 50 €0 70 80
H —— —30 H
[m] T (/]
oy
™~
8 I /6*0/0
== 55 - 25
I~
\160/05 N
~O9R N
c \\ \\ 20
~ ~.
~ ~
N NPSH |15
TN | [[m] [#]
4 1,
3==10
8
-1
NPSH — 24 ¢ 10
— Y
2
2
0 100 200 300 Q [1/min]
[ I I I I I I I I I I I ]
0 2 4 4 8 10 12 14 16 18 20 22 Q[m¥n]
0.5 —
P2 — 160/0.55
[kW] : fm"1 ‘ ‘
— 1 .95R
. —— — 60/0.55
) —_— —
0.2
0 100 200 300 Q [1/min]
70
n kg — =
%) 60 =
160,/0.55R =
L~
~160/0.55
40 ||
0 100 200 300 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

212




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. L

40-200/1.1R (1.1 kW) MEI > 0.70 — impeller diameter = 183 mm
40-200/1.1 (1.1 kW) MEI > 0.70 — impeller diameter = 200 mm
40-200/1.5 (1.5 kW) MEI > 0.70 — impeller diameter = 224 mm

0 U.S.gpm. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
[ [ [ [ [ | [ [ [
2 0 Imp.g.p.m. 20 30 40 50 G0 70 80
H _ Lco H
[m] T |20/, [f]
\\\
~—
15 N —50
\\'
[ T Bl
\\ 200/7, Vi 40
T T T T — |\\\
10 \\/]Ji \\\
~—— ™~ NPSH
T [m] [r] [
SN
3 10
8
NPSH [——— 2 i
1 20
2
5
0 100 200 300 Q [1/min]
[ [ [ [ [ [ [ [ [ [ [ [ 1
0 2 4 6 8 10 12 14 16 18 20 22 Q [m3h]
1.4 T T
P, —— 2‘00/1‘.5—
T T
(kW o g e — 200/1.1—
200/1.1R
0.2 . .
0 100 200 300 Q [1/min]
70 —
n 01 % —
200/1.1R{__L ===
[%] 60 | ]
50 200/1.15 7~ 1
i Z :200/1.5
40 L
0 100 200 300 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

213




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. L

50-125/0.55R (0.55 kW) MEI > 0.40 — impeller diameter = 131 mm
50-125/0.55 (0.55 kW) MEI > 0.40 — impeller diameter = 140 mm

0 US.gpm. 40 60 80 100 120 140 160 180
| | | | | | | | | |
[ I I I I I I I
, 0 Imp.g.p.m. 20 40 60 80 100 120 140
- 22
H T T T~ H
~ B
[m] ¢ ~~ ~ p 20 [#]
NP5
7
g e ey \\ 0‘55 18
T [~
5 T~ -
\\ 7 25 ‘ ‘ N 16
N0
NS N 14
4
N N L1
N
3 NPSH [~ 10
N [m] [#]
4 |
|8
2 ] 3==10
L 8 ~6
NPSH_ | | |t 2
e 6
1 o
0 100 200 300 400 500 600 Q [I/min]
[ I I I I I I I I
0 5 10 15 20 25 30 35 Q [m3/h]
0.5 —_—
P, = — 125/0.55
— 125/0.55R |
”
0.3 — —
0.2
0 100 200 300 400 500 600 Q [I/min]
80
n
%] 70 — _
(%] — ~~ ] 125/055 |
60 ~d ]
125/0.55R7
5 L[]
0 100 200 300 400 500 600 Q [I/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

214




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE

50Hz

50-160/1.1R (1.1 kW) MEI > 0.60 — impeller diameter = 154 mm
50-160/1.1 (1.1 kW) MEI > 0.60 — impeller diameter = 166 mm

0 US.gp.m. 40 c0 80 100 120 140 160 180 200
I L [ [ L [ L [ L I L [ L [ L [ L
10 0 Imp.g.p.m. 40 60 80 100 120 140 160
H T - 30
[m] B
L1 N6,
8 | - \0< ;
~ NG 25
\\\ /€ N
60
\<1% \\\
5 N - 20
N
N N
\\
N
15
4 \\= NPSH
[m] [#t]
4
e 12
1 31010
NPSH L= 8
— 24 ¢
2 4
0 100 200 300 400 500 600 700 Q [1/min]
[ [ [ [ [ [ [ [ [ [
0 5 10 15 20 25 30 35 40 45 Q [m3/h]
1.0
) N
[kw] 08 E— 1}60{/”1
|
0.6 — —— 16‘0/1‘]R
|
04 |
0 100 200 300 400 500 600 700 Q [1/min]
8 T
n 160/1.1
[%] 70 ——— } I }
= ~<
160/1.1R
60
Y
50 ‘
0 100 200 300 400 500 600 700 Q [I/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

H
(/]




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz
Rev. L
50-200/1.5R (1.5 kW) MEI > 0.60 — impeller diameter = 191 mm
50-200/1.5 (1.5 kW) MEI > 0.60 — impeller diameter = 200 mm
50-200/2.2 (2.2 kW) MEI > 0.60 — impeller diameter = 224 mm
0 USgpm. 40 €0 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
20 (I) Imp‘g‘p.m‘I 4|0 GIO 8|0 1(|)0 12|0 1110 1&0
H —c0 H
(m] 77T T T —_ (]
~2,
™~
15 ~~L - 50
N
—_— L N
T~ \\\I
| — T
—_ T~ 200 15 40
\\\ :
\\\iOO/I 56 e
. N
10 ™ - N -
\\\ \\\‘ : N]P?:t] 3
NN \\' m
c+2
\\| 4 15
NPSH T 10
2 20
5
5
0 100 200 300 400 500 €00 700 Q [1/min]
<|> EI> 1‘0 1‘5 2‘0 2‘5 3‘0 3‘5 4‘0 4‘5 Q [m3/h]
22 ——
P, B " 200/2.2
[kn] 1 REN
14 —— 200/1.5
e 200/1.5R
06 | L
0 100 200 300 400 500 €00 700 Q [1/min]
o T
200/1.5R = ==X
(7] = _—T 200/1.511
€0 /}f/
P
200/2.2
40 | | |
0 100 200 300 400 500 €00 700 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

216




3 SERIES 4 Poles

CENTRIFUGAL PUMPS

PERFORMANCE CURVE S50Hz
Rev. L
65-125/0.55 (0.55 kW) MEI > 0.50 — impeller diameter = 128 mm
65-125/0.75 (0.75 kW) MEI > 0.50 — impeller diameter = 138 mm
65-125/1.1 (1.1 kW) MEI > 0.50 — impeller diameter = 149 mm
0 USgpm. 50 100 150 200 250 300
| | | | | | |
8 (I) Imp.g.p.m. 5I0 1(I)O 1EI>O 2(I)O 2;0
T — — L 25
H \\' H
[m] S [#]
T T —|— f— 7
A - 25/1/0 - 20
= \\\\ | N
T T —|— L N /25/0 \\\
P N 2 \‘\ N
\\ \\ \\ —10
N NPSH
N [m] [#]
2 9,
N 34105
NPSH — " |,
— — -6
(4
-2
0 0
0 200 400 €00 800 1000 Q [1/min]
0 10 2 30 2 50 60 oI [m3/n]
0.9 T T
Py —— 125/1.10
(W] o e 125/0.75—
— — —
. e 12;/0:;5—
0 200 400 €00 800 1000 Q [1/min]
80
n } —
% TN
. 60 \\\t\\\ 125/1.10 |
N |
125/0.75—
125/0.55 ]
40 —
0 200 400 €00 800 1000 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

217




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. L

65-160/1.1 (1.1 kW) MEI > 0.70 — impeller diameter = 161 mm
65-160/1.5 (1.5 kW) MEI > 0.70 — impeller diameter = 168 mm
65-160/2.2 (2.2 kW) MEI > 0.70 — impeller diameter = 178 mm

0 USagpm. 50 100 150 200 250 300 350
| | | | | | | |
[ [ [ [ [ | [
” 0 Imp.g.p.m. 50 100 150 200 250 300
T S
H TN L35 H
[m] 10 NG (]
e 2,
~ \\\ - 30
—_ L \
8 e 7
S~ S0, 5 \ 25
~ , -y \\
c ‘ N - 20
™ ™ NPSH
NN [m] [#]
\ 3
" 15
N - 14
4 S 4
h L 12
,/ Fm= 1010
2 NPSH = 24,
5
It
-2
0 0
0 200 400 600 800 1000 1200 Q [I/min]
[ [ [ [ [ [ [ [ [
0 10 20 30 40 50 €0 70 Q [m3/h]
2 T T
P, 160/2.2 | |
[kw] 2 | — 160/1.5
‘ — 160/1.1
—
y | |
0 200 400 600 800 1000 1200 Q [I/min]
80
n
%] d R 160/1.5
70 \\\\S:C\
N 160/2.2
160/1.1N
60 L
0 200 400 600 800 1000 1200 Q [I/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

218




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE

50Hz

18

P2

65-200/2.2R (2.2 kW) MEI > 0.70 — impeller diameter = 190 mm
65-200/2.2 (2.2 kW) MEI > 0.70 — impeller diameter = 201 mm
65-200/3 (3.0 kW) MEI > 0.70 — impeller diameter = 212 mm

[kw]

80

(%]
70

60

0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
[ [ [ [ [ | [
0 Imp.gpm. 50 100 150 200 250 300
L 55
1 L
o~ - 50
—==o ™. 2 00/3
< X L 45
- NN
i - =2 %, - 40
SN ]\22
s 2 | N
ZR N N 35
AN N
NG ‘\‘ NPSH
N N [m] [#] | 30
N N “
N N
N [T S o I
N =20
N ¢
NPSH Bl
] L 10
’/
27 5
15
0 200 400 600 800 1000 1200 Q [I/min]
[ | | | | | | | |
0 10 20 30 40 50 €0 70 Q [m3/h]
1]
—— = 1—200/3.0—
L // '
—— —— 200/2.2
|t | |
—— — 200/2.2R
=T |1
0 200 400 600 800 1000 1200 Q [I/min]
—
NG N
\\\\\\
- 200/3.0
\\ ~
200/2.2R—N
1 200/2.2
| | |
|
0 200 400 600 800 1000 1200 Q [I/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

(]




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. L

65-250/4 (4.0 kW) MEI > 0.50 — impeller diameter = 235 mm
65-250/5.5 (5.5 kW) MEI > 0.50 — impeller diameter = 250 mm

0 US.gpm. 100 150 200 250 300 350 400
| | | | | | | | |
[ [ [ [ [ | [ [
; 0 Imp.gpm. 50 100 150 200 250 300 350
- 80
H I O H
[m] ' 25 -0 1n)
20 ~20/55
T~
B e e s | ™~ L co
~ 10 NG N
™~ 50
15 .
‘\\ \\\
N
N NPSH _40
\\‘ [m] [f]
10 N 5
15 |- 30
4 —
/ 31020
5 NPSH ‘o~
2 —
— -5 10
1 —
0 0
0 200 400 €00 800 1000 1200 1400 Q [1/min]
[ [ [ [ [ [ [ [ [ [
0 10 20 30 40 50 €0 70 80 90 Q [m3/h]
5
P - — 250/5.5_]
p—"
4 — ‘
(W] — — 250/4.0
3 // ”” }
[— //’
[
2
0 200 400 €00 800 1000 1200 1400 Q [1/min]
80
n —
—
[%] 70 ~
// \\\ ™~
60 250/5.5
250/4.0
50 i
0 200 400 600 800 1000 1200 1400 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

220




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. L

80-160/1.5 (1.5 kW) MEI > 0.60 — impeller diameter = 156 mm
80-160/2.2R (2.2 kW) MEI > 0.60 — impeller diameter = 165 mm
80-160/2.2 (2.2 kW) MEI > 0.60 — impeller diameter = 174 mm

0 US.qgpm. 100 200 300 400 500 600
| | | | | | |
[ [ [ [ [ |
0 0 Imp.gpm. 100 200 300 400 500
1T - 30
H H
[m] = ——1 N 6, (]
8 %
T T —|— /6‘
0
N N \
¢ N — 20
N ~N
N6 \ N
%75 RN
4 \\ \\
N N\
\\ NPSH [~ 10
AN [m] [#]
2 160,/2.2R- 4
NPSH // I _f3410F5
L —————T1c0/22 | ]
5
1_
0 0
0 500 1000 1500 2000 Q [I/min]
[ [ [ [ [ [ [ [
0 20 40 60 80 100 120 140 Q [m3/h]
3
I I
P2 160/2.2
[iW] 160,/2.2R
: 160/1.5
|
0 \
0 500 1000 1500 2000 Q [I/min]
90
N A%
%] —
0 \~Q§\\ 160/2.2
\\\\\ |
160/1.5 N 160/2.R
50 | -
0 500 1000 1500 2000 Q [I/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

221




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. L

80-200/3 (3.0 kW) MEI > 0.40 — impeller diameter = 196 mm
80-200/4R (4.0 kW) MEI > 0.40 — impeller diameter =211 mm
80-200/4 (4.0 kW) MEI > 0.40 — impeller diameter = 219 mm

0 US.gpm. 100 200 300 400 500 600
| | | | | | |
[ I I I I |
2 0 Imp.gp.m. 100 200 300 400 500
- 60
H H
[m] (]
15 ____—§-_-~“\\ 50
T T T A— \\\ 2
I %4
I — 7 200 95 40
L Iy B
10 N 200/“3 \‘
\\ \\\\ %
\\\
\\ \\\\‘
AN N NPSH 20
5 [m] [#]
4
NPSH > B
’/_—-——/' 3 =10
2 5
1
0 0
0 500 1000 1500 2000 Q [1/min]
[ I I I I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
4 —
Py = 200/4 ]
k] 3 — 200/4R
2 — — 200/3
| |
1 —
0 500 1000 1500 2000 Q [1/min]
90
n
%
N 20074
N
200/3 200/4R
50 | |
0 500 1000 1500 2000 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

222




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz

Rev. L

80-250/5.5R (5.5 kW) MEI > 0.60 — impeller diameter = 230 mm
80-250/5.5 (5.5 kW) MEI > 0.60 — impeller diameter = 246 mm
80-250/7.5 (7.5 kW) MEI > 0.60 — impeller diameter = 263 mm

0 US.gpm. 100 200 300 400 500 600
| | | | | | |
[ [ [ [ [ |
0 Imp.g.p.m. 100 200 300 400 500
BT T 80
T —
2
o E4— ] 225 o
20 C o~ N
CT e —l— \50/55 - 60
> N
S0 TN |
~x . 50
15 N \5‘ % N
\ \ \\
\ \\ \ - 40
N N\ AN
10 N AN
N
N 30
N NPSH
[m] [#]
3 1020
5 ~
NPSH - 2
5 10
1
0 0
0 500 1000 1500 2000 Q [1/min]
[ [ [ [ [ [ [ [
0 20 40 60 80 100 120 140 Q [m3/h]
8 T T
P2 —— 250/7.5
—
[kw] © T 250/5.5
4 —1 250/5.5R
//’-—‘” |
, |
0 500 1000 1500 2000 Q [1/min]
90
n
%
[ - e T T 250/5.5
N
NG TN
N \(&\‘ 250/7.5
250/55R N | N |
50 —
0 500 1000 1500 2000 Q [1/min]

Rotation speed = 1400 min-!
Test standard: ISO 9906:2012 — Grade 3B

223




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. L

SECTIONAL VIEW DRAWING 3(.)M4 32, 40, 50, 65-125/160/200

1 4 26 72 o6 6 17 28 6 12 21

=—hl 7
Spde
Rl

25 200 113 235 19 22 42 20 13

300




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. L

SECTIONAL VIEW DRAWING 3LM4 80-160

ﬁ

—_—

75 24 77

6 12 13 14 15

42 22 20 21 93

58

92 19 201

200A

235 200

25 76 78

1 7 34 32 11 4 26 3 5 16 17

302




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. L

75 24 77

”m
n
0 ]
b | &
) = =]
-— o~
~ 7\l
" \ - g
[

| (]
-
@ I

00
8 . EN
[ 3]
, @
/;N
[-/]

3

,"2 | g
"
@ —/ N
n \1[ [~ ]
©

Lp]

"
< ™~
<
. —] e
« A\ e
= g
- >}

~

34

304




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. L

SECTIONAL VIEW DRAWING 3(. )S4 32, 40, 50, 65-125/160/200

-

? ngm
. m g\
n A Bl
i
o ot L
irr M
) |
S I L 2
3 =] i ]
8\EEIL/\‘ | (JIIL
;\; gj > I
N 2 ERIE
T o % AN £
. -
A | o~
: = a8 @ 0
N 8
:J TS // I
~— == ?555_ \ \_rmw

306




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. L

SECTIONAL VIEW DRAWING 3LS4 80-160

42

3

4 26 1

] gﬂﬂ/

— | 000000

=

“‘f\uaaa

% 1

— 1]

235 200 6

200A

44
= [0 &
T LY

. =N

|

~_
S R
~——— | ©

5 ~
<r_/ T e
ok ~

308




3 SERIES 4 Poles

CENTRIFUGAL PUMPS

50Hz

CONSTRUCTION

310

(AN A 9 ¥ 00C ¢¢C¢ 8L 9L GC

i

HJ_-}

SECTIONAL VIEW DRAWING 3LS4 65-250, 80-200/250

- W,J.
o =

N,
,
S
~
~.
/J

[

|

LL ¥ 6L

ol

o

ve ¢ v

L ¥




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. L

SECTIONAL VIEW DRAWING 3(.)P4 32, 40, 50, 65-125/160/200

58 12

67 93 42A 50

N T/

33 6A 44

8
8
o | —o
L- /
f
] / i "
= oy
- &
LA
o/
&

312




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. L

SECTIONAL VIEW DRAWING 3LP4 80-160

7 24 77

314




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. L

SECTIONAL VIEW DRAWING 3LP4 65-250, 80-200/250

s

l

7

s

=
T

33
7
| S—

e
e

1 244 3

200

)
|

=]

—

e
EE_ \

V- X
;%]

315




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. L

SECTIONAL VIEW DRAWING 3LP4 65-250, 80-160/200/250

o
n

@I O T& / H
B
arili e
T B
O lplalio
H@n \ g

@

N A
5/\ j;
— ~__g
| @[ )
3

] \ ‘ \
= I

316




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. L
BEARINGS 3(.)M4, 3(.)S4
Pump type Ball bearing Pump type Ball bearing
Pump side Fan side Pump side Fan side
3(.)M4 32-125/0.25 6205-2RSH C3 6202-2RSH 3(.)S4 32-125/0.25 6203-2Z 6203-2Z
3(.)M4 32-160/0.37R 6203-2RSH 3(.)S4 32-160/0.37R
3(.)M4 32-160/0.37 3(.)S4 32-160/0.37
3(.)M4 32-200/0.55R 3(.)S4 32-200/0.55R 6204-2Z C3 6204-2Z C3
3(.)M4 32-200/0.55 3(.)S4 32-200/0.55
3(.)M4 32-200/0.75 6205-2RSH C3 3(.)S4 32-200/0.75
3(.)M4 40-125/0.37R | 6205-2RSH C3 6202-2RSH 3(.)S4 40-125/0.37R 6203-2Z 6203-2Z
3(.)M4 40-125/0.37 3(.)S4 40-125/0.37
3(.)M4 40-160/0.55R 6203-2RSH 3(.)S4 40-160/0.55R 6204-2Z C3 6204-2Z C3
3(.)M4 40-160/0.55 3(.)S4 40-160/0.55
3(.)M4 40-200/1.1R 6205-2RSH C3 3(.)S4 40-200/1.1R 6205-2Z C3 6205-2Z C3
3(.)M4 40-200/1.1 3(.)S4 40-200/1.1
3(.)M4 40-200/1.5 3(.)S4 40-200/1.5
3(.)M4 50-125/0.55R | 6205-2RSH C3 6203-2RSH 3(.)S4 50-125/0.55R 6204-2Z C3 6204-2Z C3
3(.)M4 50-125/0.55 3(.)S4 50-125/0.55
3(.)M4 50-160/1.1R 6205-2RSH C3 3(.)S4 50-160/1.1R 6205-2Z C3 6205-2Z C3
3(.)M4 50-160/1.1 3(.)S4 50-160/1.1
3(.)M4 50-200/1.5R 3(.)S4 50-200/1.5R
3(.)M4 50-200/1.5 3(.)S4 50-200/1.5
3(.)M4 50-200/2.2 3(.)S4 50-200/2.2 6206-2Z C3 6206-2Z C3
3(.)M4 65-125/0.55 6205-2RSH C3 6203-2RSH 3(.)S4 65-125/0.55 6204-2Z C3 6204-2Z C3
3(.)M4 65-125/0.75 6205-2RSH C3 3(.)S4 65-125/0.75
3(.)M4 65-125/1.1 3(.)S4 65-125/1.1 6205-2Z C3 6205-2Z C3
3()M4 65-160/1.1 3()S4 65-160/1.1
3(.)M4 65-160/1.5 3(.)S4 65-160/1.5
3(.)M4 65-160/2.2 3606-2RS1 C3 3(.)S4 65-160/2.2 6206-2Z C3 6206-2Z C3
3(.)M4 65-200/2.2R 3(.)S4 65-200/2.2R
3(.)M4 65-200/2.2 3(.)S4 65-200/2.2
3(.)M4 65-200/3.0 3(.)S4 65-200/3.0
3LM4  65-250/4 6306-2RS1 C3 6206-2RS1 C3 3LS4  65-250/4 6306-2Z C3 6306-2Z C3
3LM4  65-250/5.5 6308-2RS1 C3 6208-2RS1 C3 3LS4 65-250/5.5 6208-2Z C3 6208-2Z C3
3LM4  80-160/1.5 6205-2RS1 C3 6205-2RS1 C3 3LS4 80-160/1.5 6205-2Z C3 6205-2Z C3
3LM4  80-160/2.2R 6206-2RS1 C3 3LS4 80-160/2.2R 6206-2Z C3 6206-2Z C3
3LM4  80-160/2.2 3LS4 80-160/2.2
3LM4  80-200/ 3 3LS4 80-200/3
3LM4  80-200/4R 6306-2RS1 C3 6206-2RS1 C3 3LS4 80-200/4R 6306-2Z C3 6306-2Z C3
3LM4  80-200/4 3LS4 80-200/4
3LM4  80-250/5.5R 6308-2RS1 C3 6208-2RS1 C3 3LS4 80-250/5.5R 6208-2Z C3 6208-2Z C3
3LM4  80-250/5.5 3LS4 80-250/5.5
3LS4 80-250/7.5

319




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. L
BEARINGS 3(.)P4
Pump type Ball bearing
Pump Motor

Pump side Motor side Pump side Fan side
3(.)P4 32-125/0.25 6306-2RS1 C3 [6206-2RS1 C3 | 6203-2Z 6203-2Z
3(.)P4 32-160/0.37R
3(.)P4 32-160/0.37
3(.)P4 32-200/0.55R [6308-2RS1 C3 [ 6306-2RS1 C3 | 6204-27 C3 | 6204-2Z C3
3(.)P4 32-200/0.55
3(.)P4 32-200/0.75
3(.)P4 40-125/0.37R  |6306-2RS1 C3 | 6206-2RS1 C3 | 6203-2Z 6203-2Z
3(.)P4 40-125/0.37
3(.)P4 40-160/0.55R 6204-2Z C3 | 6204-2Z C3
3(.)P4 40-160/0.55
3(.)P4 40-200/1.1R 6308-2RS1 C3 [ 6306-2RS1 C3 | 6205-2Z C3 | 6205-2Z C3
3(.)P4 40-200/1.1
3(.)P4 40-200/1.5
3(.)P4 50-125/0.55R [6306-2RS1 C3 | 6206-2RS1 C3 | 6204-27 C3 | 6204-2Z C3
3(.)P4 50-125/0.55
3(.)P4 50-160/1.1R 6308-2RS1 C3 [ 6306-2RS1 C3 | 6205-2Z C3 | 6205-2Z C3
3(.)P4 50-160/1.1
3(.)P4 50-200/1.5R
3(.)P4 50-200/1.5
3(.)P4 50-200/2.2 6206-2Z C3 | 6206-2Z C3
3(.)P4 65-125/0.55 6306-2RS1 C3 [ 6206-2RS1 C3 | 6204-2Z C3 | 6204-2Z C3
3(.)P4 65-125/0.75
3(.)P4 65-125/1.1 6205-2Z C3 | 6205-2Z C3
3(.)P4 65-160/1.1 6308-2RS1 C3 [ 6306-2RS1 C3
3(.)P4 65-160/1.5
3(.)P4 65-160/2.2 6206-2Z C3 | 6206-2Z C3
3(.)P4 65-200/2.2R
3(.)P4 65-200/2.2
3(.)P4 65-200/3
3LP4 65-250/4 6310-2RS1 C3 [ 6308-2RS1 C3 | 6306-2Z C3 | 6306-2Z C3
3LP4 65-250/5.5 6208-2Z C3 | 6208-2Z C3
3LP4 80-160/1.5 6308-2RS1 C3 [ 6308-2RS1 C3 | 6205-2Z C3 | 6205-2Z C3
3LP4 80-160/2.2R 6206-2Z C3 | 6206-2Z C3
3LP4 80-160/2.2
3LP4 80-200/3 6310-2RS1 C3 [ 6308-2RS1 C3
3LP4 80-200/4R 6306-2Z C3 | 6306-2Z C3
3LP4 80-200/4
3LP4 80-250/5.5R 6208-2Z C3 | 6208-2Z C3
3LP4 80-250/5.5
3LP4 80-250/7.5

320




CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. L
MECHANICAL SEAL (standard, H, E and Special version)
L
L1 L2
a0 N
o
S
- 4 3 2 13
';U o~ L - - - - - - % L'g
3 J s s
HQUU
Version Pump type Dimensions Material
dl | d2 | d3 | d4 | d5 L L1 | L2 1 2 3 4
Stationary | Rotary Rubber Frame
seal ring | seal ring + spring
Standard | 32-125/160/200 22 119 | 38 | 31 | 37 |37.5(27.5| 10 | Carbon | Ceramic NBR EN 1.4401
40-125/160/200 (AISI 316)
50-125/160/200
65-125/160/200
H 32-125/160/200 22 1 19 | 38 | 31 | 37 |37.5|27.5| 10 | Carbon Ceramic FPM EN 1.4401
40-125/160/200 (AISI 316)
50-125/160/200
65-125/160/200
80-160
65-250 30 | 24 | 46 | 39 | 45 |425]325] 10
80-200/250
E 32-125/160/200 22 |19 | 38 | 31 | 37 |37.5(27.5| 10 | Carbon | Ceramic EPDM EN 1.4401
40-125/160/200 (AISI 316)
50-125/160/200
65-125/160/200
80-160
65-250 30 | 24 | 46 | 39 | 45 |425]325] 10
80-200/250
QlAEGG* | 65-250 30 |24 |46 |39 | 45|43 |33 |10 Silicon |Metallised | EPDM EN 1.4401
80-200/250 Carbide Carbon (AISI 316)

* The drawing is only indicative

321




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION 50Hz

Rev. L

MECHANICAL SEAL (L version g22)

- N,
0 }
N M~
o~ 1 M
S L=
)
PO ]
o C »
B AN |
~
E
37.5
Version Pump type 1 Material 4
2 3
Stationary | Rofary Rubber Frame
seal ring | seal ring + spring
L g22 32-125/160/200 SC SiC FPM EN 1.4571
40-125/160/200 (AISI 316Ti)
50-125/160/200
65-125/160/200
80-160

322




